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N & 0l & Av S Z M A
20218 =& 2 3 SEHLEAMY &XH
M EXZH D
Hu: 5ZOX T4 L 2Y
Eel: BEMLML(SSMLAL) (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
S X3 A 407,412 407,412 0
s3HA =24 & 29 407,412 407,412 0
SMNLMS (SSMHLAY) 407,412 407,412 0
SENLAME FE(2LMLAMY SE3IAH) 1,348 13,170 A 11,822
201 Let24E] 1,348 2,970 N 1,622
01 AFR2telHl 1,348 2,970 A1,622
Oas2EAE A2t BH
238 269,6008 » 500 & 1,348 2,970 A1,622
202 04l 0 1,200 A 1,200
01 SLHOYI 0 1,200 A 1,200
OZHEAY =& 28 0& 0 1,200 A 1,200
401 AIEHI L 20 0 9,000 A9,000
01 A& HI 0 9,000 A9,000
O&SZEHAE FHISA 28 0& 0 9,000 A 9,000
OlolE (S HEAIY S35 ) 406,064 394,242 11,822
801 0l 8l 406,064 394,242 11,822
01 EHoildl gl 406,064 394,242 11,822
oaolglsl Z & 406,064,000& = 14l 406,064 394,242 11,822
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20219 E = 2 3 sSS2XNIRESHAY &
C EXNZH D
P SE2HI x4 ¥ 2¢
D s3HA AN (sBSANRETHEAY) (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH HnE2
2 4,271,134 4,271,134 0
XN xd & 29 4,271,134 4,271,134 0
SHX SXB(SSNREZLHAY) 4,271,134 4,271,134 0
SR AEE B4 SNT2A(SZAREILHAYSE 235,000 297,500 262,500
=23 H)
201 LBt 17,200 15,700 1,500
02 2229 1,500 0 1,500
OI2Z2Z2 2 HMAMI 1,500 0 1,500
OZYSEF=3EHKX CCTV S&lHl € I
300,000 * 504 1,500 0 1,500
207 S R IH ey 100,000 200,000 A 100,000
01 ¢ EAH 100,000 200,000 A 100,000
ON=S=s3HX HEHE L AALH 858 2
o 2 100,000,0008 * 100 A 100,000 200,000 A 100,000
401 AlEHI 2 =20 116,600 80,600 36,000
01 Al&HI 116,600 80,600 36,000
OY9dEZ=2X CCTV A X ZAH
36,000,0002 * 1JHA 36,000 0 36,000
ISQHLHEUY SABR(SSXRZLAILSES 3 330,935 320,992 9,943
A
201 LBt 83,735 74,992 8,743
01 AF2 22| H 23,735 20,992 2,743
olgersat|] 355 0 355
OXAD| Atz 31,9002 * 501 ¥ 160 0 160
OZJIHEAI Uxta 38,9002 * 501 ¥ 195 0 195
ol2gsd] 22,380 17,400 4,980
OUSH+HMRY LN+
AX 60,0008 * 982 * 1Y 5,880 4,260 1,620
OUSH+HRY SX4+g
AX 60,0002 * 2759 * 1Y 16,500 13,140 3,360
O3] 0 2,592 A2 ,592
OXNEQH XM E A 22| 38 03 0 2,592 N2,592
02 2229 60,000 54,000 6,000
O[AN&E X 2] 36,000 30,000 6,000
OlXEssCX =ZJA3FZAAA FA 2Ll
2A 1,666,6002 * 123 20,000 30,000 A 10,000
OlMESSHA =ZJAFZANA R 2L
= 4,000,0002 * 43 16,000 0 16,000
202 04| 7,200 6,000 1,200
01 2o Y 7,200 6,000 1,200
SSSX =AM N=22l ol
A 20,0008 * 5% » 72 7,200 6,000 1,200
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SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
lolH(s3 XN HAMASEIA) 3,705,199 3,652,642 52,557
801 olBIBI 3,705,199 3,652,642 52,557
01 EHaildl gl 3,705,199 3,652,642 52,557
oolglsl 2 & 3,705,199,000& 14 3,705,199 3,652,642 52,557
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CHelr 2 EINASEEH (SEIMH) (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
BSABA D 540,994 540,994 0
7l 510,542 510,542 0
2 30,452 30,452 0
*>EEHAEH 463,065 463,065 0
J| 450,218 450,218 0
2 12,847 12,847 0
S2ENLAESF H (=Z ) 463,065 463,065 0
J| 450,218 450,218 0
2 12,847 12,847 0
=OIXI2 ALY 343,643 343,643 0
Jl 343,643 343,643 0
307 gl12+0l & 114,935 124,200 A9,265
7l 114,935 124,200 A9,265
02 DIZAAAIYER 114,935 124,200 A9,265
OFUXNSAL(HNEXS)
AX 1,064,2102 * 108MICH 114,935 124,200 A9,265
J| 114,935 124,200 A9,265
402 DI2HXH=0| & 228,708 219,443 9,265
Jl 228,708 219,443 9,265
02 QIZITF AL E X (0| X THL) 228,708 219,443 9,265
OF0UX AL (2ZHEXS)
AX 15,247,2009 * 153 228,708 219,443 9,265
J| 228,708 219,443 9,265




